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1 JtiEE 1,981 1,374 69%
2 EHE 535 279 52%
3 SFE 454 199 44%
4 EHE 602 335 56%
5 Rl IR 272 178 65%
6 A 293 185 63%
7 EEE 525 339 65%
8 I B 554 300 54%
9 WHARE 398 248 62%
10 BER 409 253 62%
11 BEER 1,059 745 70%
12 FEE 1,060 689 65%
13 R ER 2,901 1,957 67%
14 eI 1,701 1,192 70%
15 HiBe 507 291 57%
16 = 289 129 45%
17 RIE 274 183 67%
18 EHE 307 179 58%
19 MET-! 292 183 63%
20 EHE 649 337 52%
21 iz B2 1S 419 198 47%
22 EfE 12 664 419 63%
23 F5E 1,412 888 63%
24 =58 487 326 67%
25 HEE 483 408 84%
26 REAT 1,400 874 62%
27 ABRAF 2,899 2,089 72%
28 EEE 1,354 905 67%
29 ZBE 412 207 50%
30 MILE 444 293 66%
31 ERE 229 134 59%
32 ERE 317 159 50%
33 EE 506 319 63%
34 LEE 792 580 73%
35 T=]-! 434 282 65%
36 HEEE 281 192 68%
37 I 233 145 62%
38 BIEE 349 218 62%
39 =508 287 232 81%
40 128 1,396 945 68%
41 EBE 229 125 55%
42 REIEE 529 279 53%
43 BEAE 487 300 62%
44 AHE 475 325 68%
45 =IHE 296 154 52%
46 EREE 507 275 54%
47 FhiBE 408 279 68%
&t 32,791 21,125 64%
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